7> eq:=diff(y(x),x,x)-3*diff(y(x) ,x)+2*y(x)=0;
d d _
: Q=<7 yix) =3 (g Y0 | +2y00 =0 1)
> dsolve(eq,y(x));
y(x)=_Cle"+ _Cc2e** )
> eql:=diff(y(xX),Xx,x)-3*difF(y(x),x)+2*y(x)=3*exp(-x)-10*cos(3*x);
S R O Cget_
I eql = o7 y(x) —3 ( i y(x)) +2y(x) =3e ¥ —10cos(3 x) 3
> dsolve(eql, Y(X));
y(X) =%e_x+ 173 cos(3 x) +19—3sm(3 X) + Cle**+¢ C2 (4)
> eq2 == {diff(y(x )% X) =3 diff(y(x), X) + 2*Y(x) =3*exp(-X) -10*Cs(3*X), ¥ (0)
=1,D(y)(0) }
2
eq2 := {& y(x) —3 % y(x)) +2Yy(X) =3e*—10cos(3 X),y(0)=1,D(y)(0) =2 5)
:> dsolve(eq2, y(X));
1%, 1 9 . 6 2x 1 u
i y(Xx) = > e X+ 13 cos(3 x) + 13 sin(3 x) + 13 g2* iy e (6)
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